AR -

BB ARA+ A EERREER L4 RRM /5 %"
477 R EEEEWRAE BIE IR R

FHAER AL O - D%EHE% (B ERLR)

. Please define PEL-TWA, PEL-STEL and PEL-C. For workers exposed to any

given chemical, please give rationales for selecting appropriate limit values for
assessing workers’ exposures. (10%)

. Please define inhalable, thoracic, and respirable aerosols. For workers exposed to

aerosols, please give rationales for selecting appropriate aerosol sampling criteria
for assessing workers’ aerosol exposures. (10%)

. What is a similar exposure group (SEG)? What is the exposure profile of a SEG?

How to make a judgment to assess whether the exposure profile is acceptable?
(10%)

. Aworker exposed to noise levels and durations in one workday are shown as

followings: 70 dBA for 2 hrs, 85 dBA for 3 hrs, 90 dBA for 2 hrs, and 95 dBA for
1 hr. Please calculate his noise exposure dose and time-weighted-average noise
level based on the 5-dBA rule. (10%)
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